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15 Problems in Solving Right Triangles (Part 3 of 4)
(Part 1)

PROBLEMS
1. Given that x = 3 sin(8), find sin(@), cos(8), tan(8), sec(d), csc(H), cot(d) by constructing

a right triangle consistent with the given information.

2. Given that x = sin(8), find sin(8), cos(8), tan(8), sec(8), csc(8), cot(@) by constructing a
right triangle consistent with the given information.

3. Giventhat x = %sin(@), find sin(@), cos(0), tan(8), sec(H), csc(H), cot(H) by constructing
a right triangle consistent with the given information.

4. Given that x? = 3sin?(0), find sin(8), cos(8), tan(0), sec(8), csc(H), cot(8) by
constructing a right triangle consistent with the given information.

5. Given that x = asin(8), find sin(@), cos(8), tan(@), sec(8), csc(8), cot() by constructing
a right triangle consistent with the given information.

6. Giventhat x = 4 tan(6), find sin(0), cos(8), tan(8@), sec(d), csc(@), cot(8) by constructing
a right triangle consistent with the given information.

7. Giventhat x = tan(6), find sin(8), cos(8), tan(8), sec(8), csc(0), cot(#) by constructing a
right triangle consistent with the given information.

8. Given that x = v/15tan(8), find sin(8), cos(#), tan(8), sec(0), csc(8), cot(6) by
constructing a right triangle consistent with the given information.



9. Given that 2x = 3 tan(8), find sin(@), cos(8), tan(8), sec(H), csc(H), cot(H) by
constructing a right triangle consistent with the given information.

10. Given that x = atan(8), find sin(0), cos(8), tan(8), sec(0), csc(H), cot(8) by
constructing a right triangle consistent with the given information.

11. Given that x = 5sec(8), find sin(6), cos(8), tan(8), sec(@), csc(8), cot(8) by
constructing a right triangle consistent with the given information.

12. Given that x = sec(8), find sin(8), cos(8), tan(6), sec(0), csc(H), cot(8) by constructing
a right triangle consistent with the given information.

13. Given that 5x = 2 sec(8), find sin(6), cos(8), tan(8), sec(8), csc(@), cot(H) by
constructing a right triangle consistent with the given information.

14. Given that x2 = 2 sec(8), find sin(8), cos(8), tan(8), sec(8), csc(0), cot(8) by
constructing a right triangle consistent with the given information.

15. Given that x = asec(6), find sin(8), cos(8), tan(8), sec(8), csc(H), cot(8) by
constructing a right triangle consistent with the given information.

“Only he who never plays, never loses.”
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